
ai .. 
; 
'E 
ell 
.c
>, 
C 

>, ell 
;: .c C., 

�·;: 
CII CII 

� �.,2) CII ·- ..
ell Ill 
.. 't 
Ill Ill 111 .. 
0 C 

ij -� 
Ill C 
� -�
� Ill 
a. Iii
C .C 
0 ... 

:::7a.! .c
-; ...
'ti ! 
C :, 
·- C/1 
._ C ,!! Ill 

ci .s 

iii 
z 

0 0 �, ® 
�l=i.1$'(. 

o
.,. 

()1 � @@@@ l�FI·. i
ED0452 448GMD 

0 e 

D � 
ED0007 EDOOS9 

LHS 

Repeat slides 5 & 6 
for LHS 

© 

' 
ED0303 

FITTING KIT CODE MANUFACTURER MODEL TYPE 

RL0450 ISUZU KB/D-MAX 

ED000S 

C) 

���
EDD054 

YEAR STOCKIST 

0 

9 
ED0554 

when sitting in the vehicle in 
a driving position. 

RHS has Damper and new 
OEM Cable fitted. 

LHS has new OEM Cable fitted. 

LHS Fit ball socket to ball stud and 
press until in place . 

PRODUCT REVISION L��iR DATE PAGE 

2005-2015 
1STINTRO 

GENERAL USE EZDown 

RELOADED 
2 JOmin 03/05/2018 

TORQUE-N.m * 27N.m±2N.m -It 17N.m±2N.m 'ii: 27N.111±2N.m * 27N.m±2N.m 

UNCONTROLLED DOCUMENT



EZDown Reloaded Instruction 
- 2nd Fitment 

RHS and LHS are determined 

when sitting in the Drivers side 

of the Vehicle. 

Slide location pln over bolt inserted 
in slides 5 & 6 above. 

· · 

irection from inside the 
l�oking to�ards the Tailgate 

Remove RED bolt. 

® AL0059L
., _____ 

ro 
@3) w 

@Bl ID 

©©@ 
@@@ 

MtOwa,h•rs MtO fine pll<>hod 

locknuts 

@HL0406 

@) AL0059R 

i@' RL0062 

(]'� nL0051L 

IEZDown Reloaded lslLIZLII Rl0450 

Open tailgate. 

I 8 o 
@©@ 

Replace it with A - M1 O Fine Pitch 
Bolt, 2 off M10 Washers and M10 
Fine Pitch LockNut. 

�� 
Replace taillight and bolts.� 
Repeat for LHS. � 

View direction from inside the 
vehicle bin looking towards 
the tailgate 

Pod E now slides over 

This is what it will looks like on the 
inside when correctly Installed. 

RHS @j 

Repeat slides 7 to 12 on LHS. 

Remove the 
two bolts on 
RHS & LHS. 

are removed the 
taillights will 
clip from the 
vehicle body. 

Vehicle Bin looking towards the Tailgate 

Remove the bolt and discard. 

Secure pod with Washer I 
and M6 Nut H 

View from top 

Taillight clips 
off in this 
direction 

you are going 
to remove and 

, replace 
with bolt A. See 
slides 5 & 6. 

M10 Fine Pitch bolt (A) 

) <' 
RHS \, \ 

p 

I RHS Hinge Supp�rt brack
,
�1 [B}, 

. i 
Ensure that these two brackets are parallel \ to each other before tightening the MG Nut [H). 
If they are not then the M10 Fine Pitch Bolt (A) 
has to be adjusted to rectify alignment. 

(I]:::::Ep 

NOTE: 
Taillgate will fall very slowly the 

first cycle in order for the 
Reloaded to set. 

SHOULD YOU WP,NT TO l�irx::�;\\'i:: 
YOUR PRELOAD OR REii\JSTA,.L 
YOURPRELOADIFREMOVED 
FROM THE VEHICLE PLE.I.\SE 
RETURN BOTH POD CYLINDERS 
(ITEM E & F) TO YOUR CLOSEST 
STOCKIST FOR ASSISTt\NCf. 

FITTING CODE MANUFACTURER MODEL TYPE YEAR STOCKIST PRODUCT REVISION LABOUR DATE PAGE 

RL0450 ISUZU 

TORQUE-N,m 

KB/D-MAX 

27N.m±2N.m 

2005TO 
CURRENT GENERAL USE 

15N.rn±2N.m 

EZDown 
RELOADED 25min 

www.ezdown.co.za 

NB: After installation please close tailgate gently to ensure that there is no interference with any hardware .. 

IMPORTANT: 

15/08/2018 

No lii:111:lily will Im ini:urrell Uy lmluslrial Specialised APDlicaUons 1.:omµany, for injury. Uec:1\h
, 
or properly llamage cc.1usml l1y a J)lt1llucl which has l1ecn sel up, operalctl, aml/or insrallc:I conlrary 10 EZDovm lnslaU;ilion guide/manur1I. or \•'1hich has 

heP.n suhjP.i:IP.d to misuse. nenligr.nce, m m:r.hlenl. or whir:h Ms been rr.rrnimri or al1r.rrnl hy ;inyone olnr.r lhan lnclus1rinl Snm:i,,I serJ AJ,1ilir.;ilion"i, or whW.:h has hr.en wrn,I in a mnnnr.r or for ;1 nurnosc for wh�:h lhe produr.l wm:: nol ll{isinnr.d. 

UNCONTROLLED DOCUMENT




